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B.Com. (General)
2nd Semester Examination

BUSINESS MATHEMATICS AND
STATISTICS

Paper—C4T
Full Marks : 60 Time : 3 Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Group-A (Marks : 30)

(Business Mathematics)

1. Answer any five questions :@ 5x2=10

(a) Find the compound interest on Rs. 10,000 for
3 yrs at 5% p.a.

-3 5
(b) If Matrix A ={_9 lljl and Matrix B =

2 -3
s _7/ find A +3B.
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(2)
) 21 . 1 2
(c) If Matrix A = 4 13 |and Matrix B = 3 4|
find AB.

(d) If function f (x) = 3% + x, Prove that f ()
= —f (x)

2_
(e) Evaluate : lim«}‘(*x'{h—-zi
x>l X+4

() Find gxz; when v = 3x2 — 4x + 3

{g) Find oy, when y?2 = 8x
Y

dx ’
(h) Write down the theory of average variable
cost,
- Answer any fwo questions : 2x5=10

(@) In what time a sum of money will double
itself at 8% compound interest ?

120 302
®) IfA+B=l3 5 ,landA-B={] | .

find the value of Matrix A and Matrix B.

(c) I«“ind-g}%r when x =3t - th, y =t + |



(3)

3. Answer any one question : 1x10=10

(a) (i) A machine is depreciated at the rate of
10% p.a. on reducing balances. The
original cost was Rs. 8,000 and the
ultimate scrap value is Rs. 3250. Find
the effective life of the machine.

(ii) Find the minimum and maximum values

of function y = x3 — 3x + 1 5+5
2 53
b (G A= 2 ; % is a square matrix,
find Adj A and A~
5 . dy _e-1
(i) Find dx when y 1 5+5
Group-B (Marks : 30)
(Business Statistics)
4, Answer any five questions : 5%2=10

(a) Find the median of the following numbers.
7,2,59,6

(b) Ifn =10, Zx = 120, Zx2 = 1690, find the S.D.
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(4)

(c) Find the correlation coefficient from the
following data.

o, = 6, g, = 10 and cov (xy) = 30

(d) For the two series of observations, if ZD? =
30, N =10, find Spearmans rank correlation
coefficient (R).

(e) Coefficient of variation = 5%, variance = 4,
find mean.

(f) If Laspeyres’ and Paasche’s Index Numbers
are 152.6 and 145.3 respectively, find Fisher’s
Index Number.

(g) Mention two components of time series.

(h) For a moderately skewed distribution Mean =
20.5, Mode = 32.8. Find the value of Median.

. Answer any two questions : 2x5=10

(@) Find the mode of the following distribution
Wages (Rs.) : 10-20 20-30 3040 40-50

No. of .
Workers : 6 14 20 10

(b) Calculate the coefficient of correlation from
the following data :

X:12 34 5
Y: 6 8 11 8 12



(5)

(c) Fit a least squares trend line to the following
data :

Year

2014 2015 2016 2017 2018

Demand
(000 units) 8 12 15 17 22

6. Answer any one question : 1x10=10

(@ ©

(i)

(b)
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Find the standard deviation from the
following frequency distribution :

x: 10 20 30 40 50
f: 6 7 8 11 8

Find the price index number from the
following data using Arithmetic Mean
Method.

Commodity Base Price Current Price Weight

(Rs.) (Rs.)
Rice 25 28 20
Wheat 20 22 12
Oil 30 27 10
Fish 90 99 8

5+5
Estimate the two regression equations
from the following data :

X=3, ¥=2,51.= L5 by = 037
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(6)

(1) The AM of 25 observations is 44. Later
on it was reported that two of the
observations 34 and 46 were wrongly
copied as 28 and 42. Find the correct
value of AM.



(7)
ATIM
st
(Affew= sfe)
S| @ W S ArT TeE e —

&) mﬁ%é%mw 10,000 BIwx 3 IR v
GRERE RS

@ aﬁmﬁwA=[:g ﬂ}‘ﬂzﬂmﬁk[g j]

T, O A + 3B 97 Wi Ry o9

o) mtma= ) 3| exugan-[} )

7h, ©F AB a7 IR fda 391

(%) W ST f(x) = 3%° + x TW O AN I @,
f(—x) = - (x)

. x2-x+4

(@) :FUW?FSJS ilmw

—1

(%) %ﬂﬁ%ﬁ‘fﬂﬁ,mﬂy=3x2—4x+3.
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(%)
(@ % 93 wiw QT 33, 799 y? = 8x
(@) 1 ARIETAE PR qald &

@A N T ATy Ted we Ix¢=%0

(F) AT 8% S TIT W TS ANH T A=
fawd T3?

R NMMMTIASCB @I ITIBIITITWTA+ B =

12 0] 302
35 4| 9RA-B=1, ;1 ¢

(1) %ﬂwmﬂ,ﬂ‘ﬁx;3t—t3,y=t+l

0| (Y (9 GF6 4089 Tea we Yxy0=30

@) (1) = 77 Szm wwm Sgeer Saw Al
10% 2tz wRBTS =1, TEHa arafice =1 8000
Bt o, B2z afEferrrs 15y 3250 Bt 77t
Irfad =g Ao 39

(i) S weba WEw W ¢ w4 9= 9z v
[y :
—y=x-3x+1 5+5



(9)

25 3
@ () ﬂﬁ‘A=[-;’ :1) ?J «fs 3o Uihw = o

Adj A ¢ A 3f37 =91

. dy _, Bl
(i) g P ==, s y e 5+5
fRett-«
(T3
81 (X (T A5 &tHd T WS @x3=%0

() Fesg st sy R 379

7,2,5, 9,6
(%) M n =10, Tx = 120 €32 Ix2 = 1690 T B4
WF AR w9 ey w1
() FsfefRe vy (At Fifdeda adanEl = AifET
|

6, = 6, o, = 10 4 cov (xy) = -30

X

() R @7 o=y awe =g =D? = 30, N = 10,
CRRITAE A eff$sars (Rank Correlation)
(R) @3 W+ fa<fy =91
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(10)
(8) (ST = 5% @] (OMwIT = 4 T 9w 7T 37|

(5) W Laspeyres €3¢ Paasche €9 5563 RN YU

152.6 €2 145.3 2 O Fisher €9 753 A
Refm =7 '

(®) *iffm AfEa wf oo Srard 37|

(@) o opEy ReteteTd (JTRRE o1E 20.5, AP
T 32.8, @ RewR vy 3T 391

¢\ (@ (W 75 Aeg Teq WS IXE=%0

(F) Frwr Remrr oo 3w [0 39
TR GR) 1020 20-30 3040  40-50
wfie A 6 14 20 10

(}) U o2 7z O AL #RRadT wdiesd ai= Ry
g
x: 1 2 3 4 5
y: 6 8 11 8§ 12

() Trsq oA I FEeTR AGOTS GG

et () g )
T 2014 2015 2016 2017 2018
sifew

(‘ocoo @FF) 8§ 12 15 17 22



(11)
| (@ I 90 AT Tag wa - YXY0=%0

(@) () Fraa =iy et s s fidf
g

x: 10 20 30 40 50
ik 6 7 8 11 8

(i) W5a 9y (AT QP oG =SS W HpS

ﬁ"ﬁl 9

G 25 28 20

S 20 22 12

o 30 29 10

i 90 99 8

5+5

(F) (i) FrFg 9% Wz zre Afmm Fiewrey fdy

¥q

X=3,7=2 by, =15, bxy = 037
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(12)

(ii) 25 & R AN 1% 44, A ol (ol
{5 ST 34 G 46 T ATIICE wP T 28
G 42 (e TAE, T T [efa F1

545



